| Math 120 Spring 2014 Quiz NINE
SHOW YOUR WORK
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Adapted from Stewart, page 487, #4.. Suppose the Taylor series Z i (z — 4)F for a
k=0
mystery function f(z) centered at ¢ = 4 has the following expression for its k** derivative:
—1)*k!
gy - (1R
= 5w

(a) (& points) Write down the 2nd-degree Taylor Polynomial approximation to f(z ) at a = 4.
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(b) (8 points) Find the radius of convergence of the Taylor series for f(z) about a = 4.

Lo [im k+i | = [im '%’r‘ lim 2 l¢k’
R L..))oo C/C JC >R -]i_—‘ J Do~ K‘H/(fl

QZ‘H ( | | ZKl’Lf ue

- “ /,[
K K(/(%z/ T /C /E-ﬁ _g 7
QMUUL of (onefence U <. 3R
(c) (4 points) What is the set of  values for which the Taylor series will converge to the mystery
function f(z)?
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